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=Year 11                       =Calculus                       =Worksheet 2
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	2. Find 
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	4. From the graph of
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	5. From the graph of
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	6. From the graph of
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	7. For
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	8. Water is pumped into a tank at 2a litres per minute and at the same time solution in the tank is drained at 3b litres per hour. In terms of a and b find an expression for 
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dV

, where V is the volume (litres) of solution in the tank at time t (minutes).

	9. A particle moves in a straight line and the graph shows the position x of the particle relative to origin O at time t. Estimate the speed of the particle when it passes through the origin for the first time.                           x
                                          10

                                            0                                    12    t

	10. Refer to Q9. Estimate (i) the time when the particle changes its direction (ii) the time when the particle moves at the greatest speed. 

	11. Refer to Q9. Sketch (i) the velocity-time graph (ii) the speed-time graph of the particle.
     Velocity                                        Speed                      
  0                                    12    t    0                                    12    t

	Numerical, algebraic and worded answers.




1.  5


2.  3a2 + 1


7.  152%


8.  2a ( 0.05b


9.  3.5


10. (i) t = 6  (ii) t = 0
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